
Union
16-A04-4
16-A04-6

1/4”
3/8”

Reducing Union

16-A20-6-4 3/8” x 1/4”

Bulkhead Union

16-A19-4-6
16-A19-6

1/4” x 3/8”
3/8”

MIPQL  x

MIP Adapter

16-A01-4-2
16-A01-4-4
16-A01-4-6
16-A01-6-4
16-A01-6-6
16-A01-6-8

1/4”
1/4”
1/4”
3/8”
3/8”
3/8”

1/8”
1/4”
3/8”
1/4”
3/8”
1/2”

FIPQL  x

FIP Adapter

16-A45-4-4 1/4” 1/4”

FIPQL  x

Faucet Adapter

16-A32-4
16-A32-6

1/4”
3/8”

7/16”
7/16”

Elbow

16-A03-4
16-A03-6

1/4”
3/8”

Reducing Elbow

16-A21-6-4 3/8” x 1/4”

MIPQL x

MIP Elbow

16-A48-4-2
16-A48-4-4
16-A48-4-6
16-A48-6-4
16-A48-6-6
16-A48-6-8

1/4”
1/4”
1/4”
3/8”
3/8”
3/8”

1/8”
1/4”
3/8”
1/4”
3/8”
1/2”

StemQL

Stem Elbow

16-A22-4-4
16-A22-4-6
16-A22-6-6

1/4”
1/4”
3/8”

1/4”
3/8”
3/8”

Stem Run Tee

16-A27-4-4
16-A27-6-6

3/8” 3/8”

Stem x QL

Tee

16-A02-4
16-A02-6
16-A02-6BK

1/4”
3/8”
3/8” Black

BranchThru x

Reducing Branch Tee

16-A30-4-6
16-A30-6-4

1/4”
3/8”

3/8”
1/4”

MIP Branch Tee

16-A28-4-4
16-A28-6-6

1/4”
3/8”

1/4”
3/8”

Thru x MIP

Stem Branch Tee

16-A29-4-4 1/4” 1/4”

Thru x Stem

MIP Run Tee

16-A26-4-4
16-A26-6-4

1/4”
3/8”

1/4”
1/4”

QL   x MIP

2-Way Divider

16-A23-4
16-A23-6

1/4”
3/8”

Stem Adapter

16-A06-6-4

16-A05-4-4
16-A05-6-4
16-A05-6-6

1/4”
3/8”
3/8”

1/4”
1/4”
3/8”

3/8” 1/4”
Stem x QL

Stem x MIP

Collet
16-AC-4
16-AC-6

1/4”
3/8”

Locking Clip

16-A1808
16-A1812

1/4”
3/8”

Plug

16-AS-4
16-AS-6

1/4”
3/8”

O-Ring (Nitrile)

16-AOR-4
16-AOR-6

1/4”
3/8”

Phone: 800-242-7769  Fax: 800-662-7769

ARROW INDUSTRIES   465 N BERRY ST   BREA, CA 92821

PUSH-IN FITTINGS



Don’t see your part?
Call your Sales Rep

@ 800-242-7769
for other options.

Union
16-G04-4
16-G04-5
16-G04-6
16-G04-8

1/4”
5/16”
3/8”
1/2”

Reducing Union

16-G20-5-4
16-G20-6-4
16-G20-6-5
16-G20-8-6

5/16” x 1/4”
3/8” x 1/4”
3/8” x 5/16”
1/2” x 3/8”

Bulkhead Union
16-G12-4-4
16-G12-6-4
16-G12-6-6
16-G12-8-8

1/4” x 1/4”
3/8” x 1/4”
3/8” x 3/8”
1/2” x 1/2”

MIP Adapter

16-G01-4-2
16-G01-4-4
16-G01-4-6
16-G01-5-4
16-G01-6-2
16-G01-6-4
16-G01-6-6
16-G01-6-8
16-G01-8-6
16-G01-8-8

1/4”
1/4”
1/4”

5/16”
3/8”
3/8”
3/8”
3/8”
1/2”
1/2”

1/8”
1/4”
3/8”
1/4”
1/8”
1/4”
3/8”
1/2”
3/8”
1/2”

JG MIP

FIP Adapter

16-G45-4-4
16-G45-6-4
16-G45-6-8

1/4”
3/8”
3/8”

1/4”
1/4”
1/2”

JG  x FIP

Faucet Adapter

16-G32-4
16-G32-5
16-G32-6

1/4”
5/16”
3/8”

Flare Adapter

16-G01-6-4F 3/8” 1/4”

JG  x
Male
Flare

16-G45-6-4F
16-G45-6-6F

3/8”
3/8”

1/4”
3/8”

JG  x
Fem.
Flare

16-G45-44BF
16-G4544BFL
16-G45-64BF

1/4”
1/4”
3/8”

1/4”
1/4”
1/4”

JG  x
Fem.
Flare

LF

LF= Lead Free

Stem Adapter

16-G06-4
16-G06-5
16-G06-6

1/4”
5/16”
3/8”

Stem x MIP

Stem to MIP Adapter

16-G05-4-2
16-G05-4-4
16-G05-6-4
16-G05-6-6
16-G05-8-6
16-G05-8-8

1/4”
1/4”
3/8”
3/8”
1/2”
1/2”

1/8”
1/4”
1/4”
3/8”
3/8”
1/2”

Stem to Barb Adapter
Stem x Barb

16-G25-4-4
16-G25-6-4
16-G25-6-6

1/4”
3/8”
3/8”

1/4”
1/4”
3/8”

Tee
16-G02-4
16-G02-5
16-G02-6
16-G02-8

1/4”
5/16”
3/8”
1/2”

Thru x Branch

Reducing Branch Tee

16-G30-6-4
16-G30-8-6

3/8”
1/2”

1/4”
3/8”

JG  x MIP

Swivel Branch Tee

16-G10-4-4
16-G10-6-4

1/4”
3/8”

1/4”
1/4”

2-Way Divider

16-G23-4
16-G23-6

1/4”
3/8”

Equal Cross

16-G47-6 3/8”

Elbow
16-G03-4
16-G03-5
16-G03-6
16-G03-8

1/4”
5/16”
3/8”
1/2”

Reducing Elbow

16-G21-5-4
16-G21-6-4
16-G21-6-5
16-G21-8-6

5/16”
3/8”
3/8”
1/2”

1/4”
1/4”

5/16”
3/8”

Stem Elbow
Stem x JG

16-G22-4-4
16-G22-6-4
16-G22-6-6
16-G22-8-8

1/4”
3/8”
3/8”
1/2”

1/4”
1/4”
3/8”
1/2”

JG x MIP

MIP Swivel Elbow

1/4”
3/8”
1/2”

16-G09-4-4
16-G09-6-6
16-G09-8-8

1/4”
3/8”
1/2”

MIP Elbow

16-G48-4-2
16-G48-4-4
16-G48-4-6
16-G48-6-4
16-G48-6-6

1/4”
1/4”
1/4”
3/8”
3/8”

1/8”
1/4”
3/8”
1/4”
3/8”

JG x MIP

ARROW INDUSTRIES   465 N BERRY ST   BREA, CA 92821

Phone: 800-242-7769  Fax: 800-662-7769

PUSH-IN FITTINGS

JG
7/16-24 UNS



End Stop

16-G16-4
16-G46-6

1/4”
3/8”

O-Ring

16-GOR-4
16-GOR-5
16-GOR-6
16-GOR-8

1/4”
5/16”
3/8”
1/2”

Release Tool

16-GTOOL 1/4” & 3/8”

Collet
16-GC-4
16-GC-6
16-GC-8

1/4”
3/8”
1/2”

Locking Clip
16-G1808
16-G1812
16-G1816

1/4”
3/8”
1/2”

Plug
16-G08-4
16-G08-5
16-G08-6
16-G08-8

1/4”
5/16”
3/8”
1/2”

Collet Cover
16-G1904
16-G1906

1/4”
3/8”

ARROW INDUSTRIES   465 N BERRY ST   BREA, CA 92821

Phone: 800-242-7769  Fax: 800-662-7769

PUSH-IN FITTINGS

Photo 
Forthcoming



Phone: 800-242-7769  Fax: 800-662-7769

WITH INTEGRAL SLEEVE
LOW PRESSURE APPLICATIONS

SOFT PLASTIC TUBING
*50 P.S.I

WITH PLASTIC GRIPPER
FOR USE WITH PLASTIC TUBING

FOR SURE GRIP
*220 P.S.I.

WITH STAINLESS STEEL GRIPPER 
FOR USE WITH HARD AND SMOOTH 

SURFACED TUBING
*220 P.S.I.

To select your material and nut type,
Substitute the ‘x’ prefix with one of the following prefixes:
    1 = Polypropylene w/ One-Piece Nut (50psi)
    2 = Polypropylene w/ Plastic Gripper Nut (220psi)
    3 = Polypropylene w/ Stainless Gripper Nut (220psi)
    4 = Nylon w/ One-Piece Nut (50psi)
    5 = Nylon w/ Plastic Gripper Nut (220psi)
    6 = Nylon w/ Stainless Gripper Nut (220psi)

Example: 15-215-6-4 is a Polypropylene Reducing Union, 3/8” x 1/4” w/ Plastic Gripper Nut

Nut
15-x0-4
15-x0-5
15-x0-6
15-x0-8

1/4”
5/16”
3/8”
1/2”

Cap
15-xP0-4BLD
15-xP0-5BLD
15-xP0-6BLD
15-xP0-8BLD

1/4”
5/16”
3/8”
1/2”

Union
15-x15-4
15-x15-5
15-x15-6
15-x15-8

1/4”
5/16”
3/8”
1/2”

Reducing Union
15-x15-5-4
15-x15-6-4
15-x15-8-6
15-x15-10-8

5/16”
3/8”
1/2”
5/8”

1/4”
1/4”
3/8”
1/2”

Bulkhead Union
15-x20-4
15-x20-5
15-x20-6
15-x20-8

1/4”
5/16”
3/8”
1/2”

Elbow
15-x50-4
15-x50-6
15-x50-8

1/4”
3/8”
1/2”

15-x10-4-2
15-x10-4-4
15-x10-4-6
15-x10-5-4
15-x10-6-2
15-x10-6-4
15-x10-6-6
15-x10-6-8
15-x10-8-6
15-x10-8-8
15-x10-10-8

1/4”
1/4”
1/4”

5/16”
3/8”
3/8”
3/8”
3/8”
1/2”
1/2”
5/8”

1/8”
1/4”
3/8”
1/4”
1/8”
1/4”
3/8”
1/2”
3/8”
1/2”
1/2”

MIP Adapter
C MIP

FIP Adapter

15-x25-4-2
15-x25-4-4
15-x25-6-4
15-x25-6-6
15-x25-8-6
15-x25-8-8

1/4”
1/4”
3/8”
3/8”
1/2”
1/2”

1/8”
1/4”
1/4”
3/8”
3/8”
1/2”

C FIP

MIP Elbow

15-x40-4-2
15-x40-4-4
15-x40-4-6
15-x40-6-4
15-x40-6-6
15-x40-8-6
15-x40-8-8

1/4”
1/4”
1/4”
3/8”
3/8”
1/2”
1/2”

1/8”
1/4”
3/8”
1/4”
3/8”
3/8”
1/2”

C MIP

FIP Elbow

15-x45-4-2
15-x45-4-4
15-x45-6-4
15-x45-6-6
15-x45-8-8

1/4”
1/4”
3/8”
3/8”
1/2”

1/8”
1/4”
1/4”
3/8”
1/2”

C FIP

COMPRESSION FITTINGS



Phone: 800-242-7769  Fax: 800-662-7769

ARROW INDUSTRIES   465 N BERRY ST   BREA, CA 92821

COMPRESSION FITTINGS

Union

15-P3UCB3
15-P6UCB6
51-0308
15-N8UCB8
15-P8UCB8
15-P10UCB8
15-P10UCB10
51-051208
51-0312

3/16” x 3/16”
3/8” x 3/8”
1/2” x 1/2”
1/2” x 1/2”
1/2” x 1/2”
5/8” x 1/2”
5/8” x 5/8”
3/4” x 1/2”
3/4” x 3/4”

Black Poly
Black Poly
Gray PVC
White Nylon
Black Poly
Black Poly
Black Poly
Gray PVC
Gray PVC

Tee
15-x70-4
15-x70-6
15-x70-8

1/4”
3/8”
1/2”

C MIP

MIP Branch Tee

15-x60-4-4
15-x60-6-4
15-x60-6-6

1/4”
3/8”
3/8”

1/4”
1/4”
3/8”

C MIP

MIP Run Tee

15-x75-4-4
15-x75-6-4
15-x75-6-6

1/4”
3/8”
3/8”

1/4”
1/4”
3/8”



Reducing Tees

05-64R-446
05-64R-664
05-64R-884
05-64R-886

1/4”
3/8”
1/2”
1/2”

3/8”
1/4”
1/4”
3/8”

C
Thru

C
Branch

FIP Branch Tees

05-77-4-2
05-77-4-4
05-77-6-2

1/4”
1/4”
3/8”

1/8”
1/4”
1/8”

C
Thru

FIP
Branch

MIP Branch Tees

05-72-4-2
05-72-4-4
05-72-6-4

1/4”
1/4”
3/8”

1/8”
1/4”
1/4”

C
Thru

MIP
Branch

MIP Run Tees

05-71-4-4
05-71-6-6
05-71-8-8

1/4”
3/8”
1/2”

1/4”
3/8”
1/2”

C
MIP
Run

Tees
05-64-4
05-64-4
05-64-6
05-64-6
05-64-8
05-64-10

LF

LF

1/4”
1/4”
3/8”
3/8”
1/2”
5/8”

LF = Lead Free

Unions
05-62-3
05-62-4
05-62-4
05-62-5
05-62-6
05-62-6
05-62-7
05-62-8
05-62-8
05-62-10
05-62-12
05-62-14

LF

LF

LF

3/16”
1/4”
1/4”

5/16”
3/8”
3/8”

7/16”
1/2”
1/2”
5/8”
3/4”
7/8”

LF = Lead Free

05-B62-4
05-B62-6

1/4”
3/8”

No Nut or Sleeve

LF = Lead Free

Reducing Unions
05-62R-4-2
05-62R-4-3
05-62R-5-4
05-62R-6-4
05-62R-64
05-62R-6-5
05-62R-8-6
05-62R-86
05-62R-10-6
05-62R-10-8

LF

LF

1/4”
1/4”

5/16”
3/8”
3/8”
3/8”
1/2”
1/2”
5/8”
5/8”

1/8”
3/16”
1/4”
1/4”
1/4”

5/16”
3/8”
3/8”
3/8”
1/2”

FC MCx

FC MCx

Straight

Angle

Female to Male

05-57-6-4
05-57-6-8
05-57-86CP

3/8”
3/8”
1/2”

1/4”
1/2”
3/8”

05-57L-4-4 1/4” 1/4”

05-57-4W
05-57-6W
05-57-8W

1/4” Washer
3/8” Washer
1/2” Washer

C MFx

C FFx

to Flare

05-67-4-4 1/4” 1/4”

05-58-4CPR
05-58-6CPR

1/4”
3/8”

1/4”
3/8”

 to John Guest

05-G62-4-4 1/4” 1/4”

C
John
Guestx

to MIP

05-68-4-2
05-68-4-2
05-68-4-4
05-68-4-4
05-68-4-6
05-68-4-6
05-68-4-8
05-68-4-8
05-68-5-6
05-68-5-8
05-68-6-2
05-68-6-4
05-68-6-4
05-68-6-6
05-68-6-6
05-68-6-8
05-68-6-8
05-68-6-12
05-68-8-4
05-68-8-6
05-68-8-6
05-68-8-8
05-68-8-8
05-68-8-12
05-68-10-8
05-68-108
05-68-14-12

LF

LF

LF

LF

LF

LF

LF

LF

LF

LF

1/4”
1/4”
1/4”
1/4”
1/4”
1/4”
1/4”
1/4”

5/16”
5/16”
3/8”
3/8”
3/8”
3/8”
3/8”
3/8”
3/8”
3/8”
1/2”
1/2”
1/2”
1/2”
1/2”
1/2”
5/8”
5/8”
7/8”

1/8”
1/8”
1/4”
1/4”
3/8”
3/8”
1/2”
1/2”
3/8”
1/2”
1/8”
1/4”
1/4”
3/8”
3/8”
1/2”
1/2”
3/4”
1/4”
3/8”
3/8”
1/2”
1/2”
3/4”
1/2”
1/2”
3/4”

C MIP

LF = Lead Free

x

05-B68-4-4 1/4” 1/4”
No Nut or Sleeve

to FIP

05-66-4-2
05-66-4-4
05-66-4-6
05-66-4-8
05-66-5-4
05-66-6-4
05-66-6-6
05-66-6-8
05-66-8-4
05-66-8-6
05-66-8-8
05-66-10-8

1/4”
1/4”
1/4”
1/4”

5/16”
3/8”
3/8”
3/8”
1/2”
1/2”
1/2”
5/8”

1/8”
1/4”
3/8”
1/2”
1/4”
1/4”
3/8”
1/2”
1/4”
3/8”
1/2”
1/2”

C FIPx

C TFTx

to Texas Fine Thread

05-80-4-6
05-80-6-6
05-80-8-6

1/4”
3/8”
1/2”

3/8”
3/8”
3/8”

05-80-6-6W 3/8” Washer

05-66-6FT4
05-66-6FT6
05-66-8FT6

1/4”
3/8”
3/8”

3/8”
3/8”
1/2”

No Nut or Sleeve- Chrome

Phone: 800-242-7769  Fax: 800-662-7769

ARROW INDUSTRIES   465 N BERRY ST   BREA, CA 92821



Nuts
05-41S-4
05-41S-6
05-41S-8
05-41S-10

1/4”
3/8”
1/2”
5/8”

Nuts - Long Pattern
05-413-4
05-413-6
05-413-8

1/4”
3/8”
1/2”

Caps
05-40-4
05-40-6
05-40-8
05-40-10
05-40-12

1/4”
3/8”
1/2”
5/8”
3/4”

to MIP Elbow

05-69-4-2
05-69-4-4
05-69-4-6
05-69-4-8
05-69-6-4
05-69-6-6
05-69-6-8
05-69-6-12
05-69-7-4
05-69-7-6
05-69-8-4
05-69-8-6
05-69-8-8
05-69-8-12
05-69-10-8
05-69-14-12

1/4”
1/4”
1/4”
1/4”
3/8”
3/8”
3/8”
3/8”

7/16”
7/16”
1/2”
1/2”
1/2”
1/2”
5/8”
7/8”

1/8”
1/4”
3/8”
1/2”
1/4”
3/8”
1/2”
3/4”
1/4”
3/8”
1/4”
3/8”
1/2”
3/4”
1/2”
3/4”

C MIPx

05-B69-6-6
05-B69-8-6

3/8”
1/2”

3/8”
3/8”

No Nut or Sleeve

Elbows

05-65-4
05-65-6
05-65-8
05-65-10

1/4”
3/8”
1/2”
5/8”

to FIP Elbow

05-70-4-4
05-70-6-6
05-70-6-8

1/4”
3/8”
3/8”

1/4”
3/8”
1/2”

C FIPx

Nylon Balls
05-60B-4
05-60B-6

1/4”
3/8”

Sleeves
Brass

Delrin

05-60-3
05-60-4
05-60-5
05-60-6
05-60-7
05-60-8
05-60-10
05-60-12

3/16”
1/4”

5/16”
3/8”

7/16”
1/2”
5/8”
3/4”

100 lot
100 lot
Each

100 lot
Each
Each
Each
Each

05-P60-4
05-P60-5
05-P60-6
05-P60-8
05-P60-10

1/4”
5/16”
3/8”
1/2”
5/8”

100 lot
Each

100 lot
100 lot
Each

Inserts
Brass

Polypropylene

05-63-4L
05-63-5
05-63-6
05-63-8
05-63-10

1/4”
5/16”
3/8”
1/2”
5/8”

100 lot
Each

100 lot
Each
Each

05-1P-4L
05-1P-5
05-1P-6
05-1P-6L
05-1P-8

1/4” Long

5/16”
3/8”
3/8” Long

1/2”

Each
Each
Each
Each
Each

Caps
05-59-4
05-59-6
05-59-8
05-59-4W
05-59-6W
05-59-8W

1/4”
3/8”
1/2”
1/4” washer
3/8” washer
1/2” washer

Unions

05-42-4
05-42-6
05-42-8

1/4”
3/8”
1/2”

Reducing Unions

05-42R-6-4
05-42R-8-6

3/8”
1/2”

1/4”
3/8”

Swivel Unions

05-52-4
05-52-6
05-52-8
05-52-10
05-52-12

1/4”
3/8”
1/2”
5/8”
3/4”

FF MFx

Female to Male

05-54-6-4
05-54-6-8
05-54-8-6
05-54-8-10
05-54-10-8
05-54-10-12

3/8”
3/8”
1/2”
1/2”
5/8”
5/8”

1/4”
1/2”
3/8”
5/8”
1/2”
3/4”

Nuts
05-61-4
05-61-5
05-61-6
05-61-8
05-61-10

1/4”
5/16”
3/8”
1/2”
5/8”

to FHT Elbow

05-69H6-12 3/8” 3/4”
C FHTx

Needle Valves

05-N62-4
05-N62-4
05-N62-6

LF
1/4”
1/4”
3/8”

1/4”
1/4”
3/8”

C Cx
Straight

05-N69-4-2
05-N69-42
05-N69-4-4
05-N69-6-4

LF
1/4”
1/4”
1/4”
3/8”

1/8”
1/8”
1/4”
1/4”

C MIPx
Angle

LF = Lead Free

Phone: 800-242-7769  Fax: 800-662-7769

ARROW INDUSTRIES   465 N BERRY ST   BREA, CA 92821


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

